

About the radius of convexity of some analytic functions

OLGA ENGEL^{1,2}, PÁL A. KUPÁN^{1,2} and ÁGNES O. PÁLL- SZABÓ^{1,2}

ABSTRACT. In this paper we prove a general result regarding the radius of convexity for different particular functions. The method of convolutions is used. The results are applied to deduce sharp bounds regarding functions, which satisfy differential subordinations.

1. INTRODUCTION

Let $U(z_0, r) = \{z \in \mathbb{C} : |z - z_0| < r\}$ denote the disk of radius r and center z_0 . We denote $U(r) = U(0, r)$, and $U = U(1)$. The radius of convergence of the power series

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (1.1)$$

will be denoted by r_f .

For $r \in (0, r_f)$ we say that the function f is convex in the disk $U(r) = \{z \in \mathbb{C} : |z| < r\}$ if f is univalent in $U(r)$, and $f(U(r))$ is a convex domain in \mathbb{C} . A function f of the form (1.1) is convex if and only if

$$\operatorname{Re} \left(1 + \frac{z f''(z)}{f'(z)} \right) > 0, \quad z \in U(r).$$

In [2] the radius of convexity of the function f is defined by the equality

$$r_f^c = \sup \left\{ r \in (0, r_f) : \operatorname{Re} \left(1 + \frac{z f''(z)}{f'(z)} \right) > 0, \quad z \in U(r) \right\}.$$

The first works which deals with the question of the radius of starlikeness of particular (Bessel) functions were [5] and [8]. The radius of convexity of Bessel functions were determined in [2] at the first time. The radius of starlikeness and the radius of convexity of special functions have been determined in the papers [1], [2], [3], [4], [5], [6], [12]. Other results regarding the starlikeness of Bessel functions are given in [13]. Bounds for analytic functions, which satisfy a differential inequality are given in [14] and [15].

2. PRELIMINARIES

We denote by $\mathcal{H}(U)$ the class of analytic functions defined in U . Let A_0 and \mathcal{P} be the sets of functions defined by

$$A_0 = \{f \in \mathcal{H}(U) \mid f(0) = 1\} \text{ and } \mathcal{P} = \{f \in A_0 \mid \operatorname{Re} f(z) > 0, z \in U\}.$$

Received: 21.07.2015. In revised form: 08.10.2015. Accepted: 15.10.2015

2010 Mathematics Subject Classification. 30C45.

Key words and phrases. Convolution, convex function, differential subordination.

Corresponding author: Engel Olga; engel.olga@hotmail.com

Lemma 2.1. [7] p. 27 Herglotz.

The function f belongs to the class \mathcal{P} if and only if there is a probability measure μ on $[0, 2\pi]$ such that

$$f(z) = \int_0^{2\pi} \frac{1 + e^{-it}z}{1 - e^{-it}z} d\mu(t) = 1 + 2 \sum_{n=1}^{\infty} z^n \int_0^{2\pi} e^{-int} d\mu(t).$$

As we saw in the abstract we will apply the convolution theory in the study of the convexity of analytic functions. A basic work in the field of convolution is [9]. Recall the following definitions and results from this book.

Let f and g be two analytic functions defined by the power series $f(z) = \sum_{n=1}^{\infty} a_n z^n$ and $g(z) = \sum_{n=1}^{\infty} b_n z^n$. The Hadamard product of these functions is defined by

$$(f * g)(z) = \sum_{n=1}^{\infty} a_n b_n z^n.$$

For $V \subset A_0$ the dual set of V is defined by

$$V^d = \{g \in A_0 \mid (f * g)(z) \neq 0, \text{ for all } f \in V \text{ and for all } z \in U\}.$$

Lemma 2.2. [9] Let the function h_T be defined by the power series $h_T(z) = z + \sum_{n=2}^{\infty} \frac{n+iT}{1+iT} z^n$.

The function $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ is starlike in U if and only if

$$\frac{f(z)}{z} * \frac{h_T(z)}{z} \neq 0, \text{ for all } z \in U, \text{ and for all } T \in \mathbb{R}.$$

Lemma 2.3. [6] Let the class \mathcal{L} be defined by

$$\mathcal{L} = \{f \in A_0 : \operatorname{Re} f(z) > \frac{1}{2}, z \in U\}.$$

The following inclusion holds $\mathcal{L} \subset \mathcal{P}^d$.

3. MAIN RESULTS

Theorem 3.1. Let f be an analytic function in U given by the equality

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n. \tag{3.2}$$

If

$$\sum_{n=2}^{\infty} n^2 |a_n| \leq 1, \tag{3.3}$$

then the function f is convex in U .

Proof. The function f is convex if and only if $g(z) = z f'(z)$ is starlike. According to Lemma 2 the function g is starlike in U if and only if

$$\frac{g(z)}{z} * \frac{h_T(z)}{z} \neq 0, \text{ for all } z \in U, \text{ and for all } T \in \mathbb{R}. \tag{3.4}$$

$$\begin{aligned} \frac{g(z)}{z} * \frac{h_T(z)}{z} &= 1 + \sum_{n=1}^{\infty} (n+1)a_{n+1} \frac{n+1+iT}{1+iT} z^n \\ &= \left(1 + 2 \sum_{n=1}^{\infty} z^n\right) * \left(1 + \frac{1}{2} \sum_{n=1}^{\infty} (n+1)a_{n+1} \frac{n+1+iT}{1+iT} z^n\right). \end{aligned} \tag{3.5}$$

According to Lemma 3 the starlikeness condition (3.4) holds if

$$\operatorname{Re} \left(1 + \frac{1}{2} \sum_{n=1}^{\infty} (n+1)a_{n+1} \frac{n+1+iT}{1+iT} z^n\right) > \frac{1}{2}, \quad z \in U.$$

This condition is equivalent to

$$\operatorname{Re} \left(1 + \sum_{n=1}^{\infty} (n+1)a_{n+1} \frac{n+1+iT}{1+iT} z^n\right) > 0, \quad z \in U.$$

We put $z = r(\cos \theta + i \sin \theta)$, $r \in (0, 1)$, and we get

$$\begin{aligned} \operatorname{Re} \left(1 + \sum_{n=1}^{\infty} (n+1)a_{n+1} \frac{n+1+iT}{1+iT} z^n\right) &= \frac{1}{1+T^2} \left[T^2 \left(1 + \sum_{n=1}^{\infty} (n+1)a_{n+1} r^n \cos n\theta\right) + T \left(\sum_{n=1}^{\infty} (n+1)na_{n+1} r^n \sin n\theta\right) \right. \\ &\quad \left. + 1 + \sum_{n=1}^{\infty} (n+1)^2 a_{n+1} r^n \cos n\theta \right]. \end{aligned} \tag{3.6}$$

We have

$$\begin{aligned} 1 + \sum_{n=1}^{\infty} (n+1)a_{n+1} r^n \cos n\theta &\geq 1 - \sum_{n=1}^{\infty} (n+1)|a_{n+1}|r^n > \\ 1 - \sum_{n=1}^{\infty} (n+1)^2 |a_{n+1}|r^n &\geq 0, \quad r \in (0, 1), \theta \in [0, 2\pi]. \end{aligned} \tag{3.7}$$

Thus the starlikeness condition (3.4) holds if

$$\begin{aligned} \Delta_T(\theta) &= \left(\sum_{n=1}^{\infty} (n+1)na_{n+1} r^n \sin n\theta\right)^2 - 4 \left(1 + \sum_{n=1}^{\infty} (n+1)a_{n+1} r^n \cos n\theta\right) \\ &\quad \left(1 + \sum_{n=1}^{\infty} (n+1)^2 a_{n+1} r^n \cos n\theta\right) < 0, \quad \theta \in \mathbb{R}, r \in (0, 1). \end{aligned} \tag{3.8}$$

On the other hand we have

$$\begin{aligned} \Delta_T(\theta) &\leq 4 \left(\sum_{n=1}^{\infty} (n+1)na_{n+1} r^n \sin \frac{n\theta}{2} \cos \frac{n\theta}{2}\right)^2 - 4 \left(1 - \sum_{n=1}^{\infty} (n+1)|a_{n+1}|r^n\right) \\ &\quad \left(1 + \sum_{n=1}^{\infty} (n+1)^2 a_{n+1} r^n \cos n\theta\right), \quad \theta \in \mathbb{R}, r \in (0, 1). \end{aligned} \tag{3.9}$$

Now we replace the number 1 in the last two brackets by the smaller expression

$$1 + \sum_{n=1}^{\infty} (n+1)^2 |a_{n+1}|$$

and we get

$$\Delta_T(\theta) \leq 4 \left(\sum_{n=1}^{\infty} (n+1) n a_{n+1} r^n \sin \frac{n\theta}{2} \cos \frac{n\theta}{2} \right)^2 - 8 \left(\sum_{n=1}^{\infty} n^2 |a_{n+1}| r^n \right) \left(\sum_{n=1}^{\infty} (n+1)^2 |a_{n+1}| r^n \frac{1 \pm \cos n\theta}{2} \right), \quad \theta \in \mathbb{R}, r \in (0, 1). \tag{3.10}$$

We will prove that

$$\left(\sum_{n=1}^{\infty} (n+1) n a_{n+1} r^n \sin \frac{n\theta}{2} \cos \frac{n\theta}{2} \right)^2 - \left(\sum_{n=1}^{\infty} n^2 |a_{n+1}| r^n \right) \left(\sum_{n=1}^{\infty} (n+1)^2 |a_{n+1}| r^n \frac{1 \pm \cos n\theta}{2} \right) \leq 0, \quad \theta \in \mathbb{R}, r \in (0, 1). \tag{3.11}$$

The inequality (3.11) holds because according to the Cauchy-Schwarz inequality, we have

$$\left(\sum_{n=1}^{\infty} (n+1) n |a_{n+1}| r^n \sqrt{\frac{1 \pm \cos n\theta}{2}} \right)^2 \leq \left(\sum_{n=1}^{\infty} n^2 |a_{n+1}| r^n \right) \left(\sum_{n=1}^{\infty} (n+1)^2 |a_{n+1}| r^n \frac{1 \pm \cos n\theta}{2} \right) \leq 0, \quad \theta \in \mathbb{R}, r \in (0, 1),$$

and it follows that

$$\left(\sum_{n=1}^{\infty} (n+1) n a_{n+1} r^n \sin \frac{n\theta}{2} \cos \frac{n\theta}{2} \right)^2 \leq \left(\sum_{n=1}^{\infty} (n+1) n |a_{n+1}| r^n \sqrt{\frac{1 \pm \cos n\theta}{2}} \right)^2 \leq \left(\sum_{n=1}^{\infty} n^2 |a_{n+1}| r^n \right) \left(\sum_{n=1}^{\infty} (n+1)^2 |a_{n+1}| r^n \frac{1 \pm \cos n\theta}{2} \right) \leq 0, \quad \theta \in \mathbb{R}, r \in (0, 1).$$

Finally (3.10) and (3.11) imply $\Delta_T(\theta) \leq 0, \theta \in [0, 2\pi], T \in \mathbb{R}$, and the proof is done. \square

Remark 3.1. As far as we know the method of convolution is applied here at the first time in the study of the convexity of analytic functions.

Theorem 3.2. Let f be an analytic function in U , of the form $f(z) = \sum_{n=1}^{\infty} b_n z^n$, and

$$\operatorname{Re} \left(1 + \alpha_0 f(z) + \alpha_1 z f'(z) + \dots + \alpha_p z^p f^{(p)}(z) \right) > 0, \quad z \in U. \tag{3.12}$$

We denote $P(n) = \alpha_0 + \sum_{k=1}^p \alpha_k n(n-1) \dots (n-k+1)$. If $r \in (0, 1]$ and

$$\sum_{n=2}^{\infty} n^2 \left| \frac{P(1)}{P(n)} \right| \leq 1, \tag{3.13}$$

then

$$2 \sum_{n=1}^{\infty} \frac{1}{P(n)} r^n > \operatorname{Re} f(z) > 2 \sum_{n=1}^{\infty} \frac{(-1)^n}{P(n)} r^n, \quad z \in U(r).$$

The result is sharp.

Proof. Let $b_1 = 1$, and $f(z) = \sum_{n=1}^{\infty} b_n z^n$. We have

$$\begin{aligned} 1 + \sum_{k=0}^p z^k \alpha_k f^{(k)}(z) &= 1 + \alpha_0 f(z) + \sum_{k=1}^p \alpha_k \sum_{n=1}^{\infty} n(n-1) \dots (n-k+1) b_n z^n \\ &= 1 + \sum_{n=1}^{\infty} \left(\alpha_0 + \sum_{k=1}^p \alpha_k n(n-1) \dots (n-k+1) \right) b_n z^n = 1 + \sum_{n=1}^{\infty} P(n) b_n z^n. \end{aligned} \quad (3.14)$$

The Herglotz formula, (3.12), and (3.14) imply

$$1 + \sum_{n=1}^{\infty} P(n) b_n z^n = 1 + 2 \sum_{n=1}^{\infty} z^n \int_0^{2\pi} e^{-tin} d\mu(t),$$

and we get $b_n = \frac{2}{P(n)} \int_0^{2\pi} e^{-tin} d\mu(t)$. Thus it follows that

$$f(z) = \sum_{n=1}^{\infty} \frac{2z^n}{P(n)} \int_0^{2\pi} e^{-tin} d\mu(t). \quad (3.15)$$

According to Theorem 1 the condition (3.13) implies that the function

$$g(z) = z + \sum_{n=2}^{\infty} \frac{P(1)}{P(n)} z^n$$

is convex in U . This implies that

$$f^*(z) = 2 \sum_{n=1}^{\infty} \frac{z^n}{P(n)}$$

is also convex. The equality (3.15) can be rewritten as follows

$$f(z) = \int_0^{2\pi} f^*(ze^{-ti}) d\mu(t), \quad (3.16)$$

which means that $f(z)$ can be written as a convex combination of the values of f^* . The convexity of f^* and the equality (3.16) imply $f(U) \subset f^*(U)$, and this inclusion implies the subordination $f \prec f^*$. The subordination and the convexity of f^* imply $f^*(r) > \operatorname{Re} f(z) \geq f^*(-r)$, $z \in U(r)$ which is equivalent to

$$2 \sum_{n=1}^{\infty} \frac{1}{P(n)} r^n > \operatorname{Re} f(z) > 2 \sum_{n=1}^{\infty} \frac{(-1)^n}{P(n)} r^n, \quad z \in U(r),$$

and the proof is finished. □

Remark 3.2. The functions

$$f_t(z) = \sum_{n=1}^{\infty} \frac{2z^n}{P(n)} e^{-tin}, \quad t \in [0, 2\pi], \quad z \in U$$

are the extreme points of the class determined by the differential inequality (3.12). It is easily seen that the radius of convergence of these functions are equal to one. Thus the radius of convexity in case of each extreme functions are equal to one.

Corollary 3.1. Let f be an analytic function in U of the form $f(z) = \sum_{n=1}^{\infty} b_n z^n$. If

$$\operatorname{Re} \left(1 + f(z) + f'(z) + 7z^2 f''(z) + 6z^3 f^{(3)}(z) + z^4 f^{(4)}(z) \right) > 0, \quad z \in U, \quad (3.17)$$

then for every $z \in U$, the following inequality holds

$$\operatorname{Re} f(z) > 2 \sum_{n \geq 1} \frac{(-1)^n}{n^4 + 1} = -1 + \frac{i}{2} \left[\frac{\pi}{\zeta} \left(e^{-\pi \bar{\zeta}} + \frac{2\pi \bar{\zeta}}{e^{2\pi \bar{\zeta}} - 1} \right) - \frac{\pi}{\zeta} \left(e^{-\pi \zeta} + \frac{2\pi \zeta}{e^{2\pi \zeta} - 1} \right) \right],$$

where $\zeta = \frac{1}{\sqrt{2}} + i \frac{1}{\sqrt{2}}$, and $\bar{\zeta} = \frac{1}{\sqrt{2}} - i \frac{1}{\sqrt{2}}$.

Proof. We have

$$P(n) = 1 + n + 7n(n - 1) + 6n(n - 1)(n - 2) + n(n - 1)(n - 2)(n - 3) = n^4 + 1$$

It is easily seen that $\sum_{n \geq 2} \frac{P(1)}{P(n)} < \sum_{n \geq 2} \frac{2}{n^4} = 2 \left(\frac{\pi^4}{90} - 1 \right) \leq \frac{2}{3}$. According to Theorem 2, if

$\sum_{n \geq 2} \frac{P(1)}{P(n)} \leq 1$, then it follows that

$$\operatorname{Re} f(z) > 2 \sum_{n=1}^{\infty} \frac{(-1)^n}{P(n)} = 2 \sum_{n \geq 1} \frac{(-1)^n}{n^4 + 1}, \quad z \in U.$$

In order to finish the proof, we will use the identity

$$\sum_{n=-\infty}^{\infty} \frac{e^{in\alpha}}{n^2 + \zeta^2} = \frac{\pi}{\zeta} \left(e^{-\zeta|\alpha|} + \frac{2\alpha\zeta}{e^{2\pi\zeta} - 1} \right), \quad -2\pi < \alpha < 2\pi, \operatorname{Re} \zeta > 0.$$

Putting in this equality $\alpha = \pi$, $\zeta = \frac{1}{\sqrt{2}} + i \frac{1}{\sqrt{2}}$, and $\bar{\zeta} = \frac{1}{\sqrt{2}} - i \frac{1}{\sqrt{2}}$, and subtracting the obtained two equalities we obtain

$$2 \sum_{n \geq 1} \frac{(-1)^n}{n^4 + 1} = -1 + \frac{i}{2} \left[\frac{\pi}{\bar{\zeta}} \left(e^{-\pi \bar{\zeta}} + \frac{2\pi \bar{\zeta}}{e^{2\pi \bar{\zeta}} - 1} \right) - \frac{\pi}{\zeta} \left(e^{-\pi \zeta} + \frac{2\pi \zeta}{e^{2\pi \zeta} - 1} \right) \right].$$

□

Corollary 3.2. Let g be the analytic function defined by

$$g_n(z) = \frac{(n + 1)!}{z^n} \left(e^z - 1 - \frac{z}{1!} - \frac{z^2}{2!} - \dots - \frac{z^n}{n!} \right). \quad (3.18)$$

If $n \geq 7$ then g_n is convex in U .

Proof. The function g_n is of the form (3.2). Thus in order to prove the convexity of g_n it is enough to check the condition (3.3).

Since

$$g_n(z) = z + \sum_{p=2}^{\infty} \frac{z^p}{(n + 2) \dots (n + p)}.$$

it follows that the mapping g_n is convex provided that

$$\alpha_n = \sum_{p=2}^{\infty} \frac{p^2}{(n + 2) \dots (n + p)} \leq 1. \quad (3.19)$$

Since the sequence $(\alpha_n)_{n \geq 1}$ is strictly decreasing it is enough to prove (3.19) in case $n = 7$. If $n \geq 7$, then we have

$$\alpha_n \leq \alpha_7 < \sum_{p=2}^{\infty} \frac{p^2}{9^{p-1}} = \frac{298}{512} = 0.58 \dots \leq 1,$$

and the proof is done. \square

Remark 3.3. Since the function g_n , $n \geq 7$ maps the unit disk U on a convex domain $g_n(U)$, which is symmetric with respect to the real axis, the following double inequality holds

$$g_n(-1) \leq \operatorname{Re} g_n(e^{i\theta}) \leq g_n(1), \quad \theta \in [0, 2\pi].$$

Acknowledgements. This work was possible, for the author Páll-Szabó Ágnes, due to the financial support of the Sectorial Operational Program for Human Resources Development 2007-2013, co-financed by the European Social Fund, under the project number POSDRU/187/1.5/S/155383 with the title "Quality, excellence, transnational mobility in doctoral research".

The work of Pál A. Kupán was supported by the Research Foundation Sapientia in the period 2015/2016.

REFERENCES

- [1] Baricz, Á., Dimitrov, DK. and Mező, I., *Radii of starlikeness and convexity of some q -Bessel functions*, - arXiv preprint arXiv:1409.0293, 2014 - arxiv.org.
- [2] Baricz, Á. and Szász, R., *The radius of convexity of normalized Bessel functions*, Anal. Appl., **12** (2014), No. 5, 485–509
- [3] Baricz, Á., Orhan, H. and Szász, R., *The radius of α -convexity of normalized Bessel functions of the first kind*, - arXiv preprint arXiv:1412.2000, 2014 - arxiv.org.
- [4] Baricz, Á. and Yağmur, N., *Radii of convexity of some Lommel and Struve functions*, - arXiv preprint arXiv:1410.5217, 2014 - arxiv.org.
- [5] Brown, R. K., *Univalence of Bessel functions*, Proc. Amer. Math. Soc., **11** (1960), No. 2, 278–283
- [6] Engel, O. and Páll Szabó, Á. O., *The radius of convexity of particular functions and applications to the study of a second order differential inequality*, J. of Contemp. Math. Anal., (submitted paper)
- [7] Hallenbeck, D. J. and Mac Gregor, T. H., *Linear problems and convexity techniques in geometric function theory*, Monogr. and Stud. in Math., **22**, Pitman, Boston, 1984
- [8] Kreyszig, E. and Todd, J., *The radius of univalence of Bessel functions*, Illinois J. Math., **4** (1960), 143–149
- [9] Ruscheweyh, St., *Convolutions in Geometric Function Theory*, Les Pr. de l'Univ. de Montr., Montréal (1982)
- [10] Szász, R., *Geometric properties of the functions Γ and $1/\Gamma$* , Mat. Nachr., **288** (2015), No. 1, 115–120
- [11] Szász, R., *The radius of starlikeness and the radius of convexity of the Γ_q function ($q \in (0, 1)$)*, B. Malays. Math. Sci. So. (accepted for publication)
- [12] Szász, R., *About the radius of starlikeness of Bessel functions of the first kind*, Monats. Math., **176** (2015), No. 2, 323–330
- [13] Szász, R., *About the starlikeness of Bessel functions*, Integr. Trans. Spec. Funct., **25** 2014, No. 9. 750–755
- [14] Szász, R., *Inequalities in the complex plane*, JIPAM. J. Inequal. Pure Appl. Math., **8** (2007), No. 1, Art. 27, 5 pp.
- [15] Szász, R., *About a differential inequality*, Acta Univ. Sapientiae Math., **1** (2009), No. 1, 87–93

¹ BABEŞ - BOLYAI UNIVERSITY

DEPARTMENT OF MATHEMATICS

² SAPIENTIA HUNGARIAN UNIVERSITY OF TRANSYLVANIA

DEPARTMENT OF MATHEMATICS-INFORMATICS

E-mail address: engel.olga@hotmail.com

E-mail address: kicsim21@yahoo.com

E-mail address: kupanp@ms.sapientia.ro